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BACHELOR'S DEGREE PROGRAMME 
LO 
LID 	Term-End Examination 
r-- 	 June, 2017 

ELECTIVE COURSE : COMMERCE 

ECO-001 : BUSINESS ORGANISATION 

Time : 2 hours 	 Maximum Marks : 50 

(Weightage : 70%) 

Note : Attempt any five questions. All questions cam/ equal 

marks. 

1. Explain the features of an ideal form of business 4+6 
organisation, and state factors affecting the choice 
of form of business organisation. 

2. Discuss the role of an entrepreneur in business 6+4 
promotion. How does an entrepreneur differ from 
a promoter ? 

3. What is a Stock Exchange ? Describe the 2+8 
functions of a Stock Exchange. 

4. State the main purpose of advertising and suggest 3+7 
the guidelines for designing an effective 
advertisement. 

5. Discuss the various problems faced by an 10 
organisation in managing foreign trade. 
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6. 	Distinguish between any two of the following : 5+5 
(a) Voyage policy and Time Policy 

(b) Risk avoidance and Loss prevention 

(c) Life insurance and Fire insurance 

7. Explain the factors taken into account while 
selecting a proper mode of transport for despatch 
of goods. 

8. Write short notes on any two of the following : 

(a) Government Company 

(b) Sales policy of Public Utilities 

(c) Public Enterprise 

10 

5+5 
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